Exam Name

Total Questions

Description

APDCL_Assistant Manager_Human Resource

100

Important Examination Instructions

1.

Each question will carry 1 (One) Mark for correct answer.
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your examination will be considered as null and void.Attempting to close the browser
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How to use the system:

. How to start the test: You can start the test by clicking the Declaration Check box and

then 'l am ready to begin button'.

. How to change the question: For the move to the next question you have to click

on the 'Save And Next' button the same as for move to the back, click on the
'Previous' button.

. How to answer a question: You can select any answer by clicking on the button

displayed just before the answers. You have to finally click the button - Save and Next
- to save your answer and move to the next question. In Exam Sections, the Red
Circle corresponding to this question turns Green. You can go to any section / any
question number by clicking the relevant control.

. How to skip the question: You can click the " Next Question" control to move on the

next question

. How to mark a question for review: If you want to review any question later, you have

to click the "Review" checkbox. This answer will be marked for review.

. How to Submit your test: By clicking On last question and Submit Test button one

popup window display asking for "Are you sure, you want to Submit your test ?" You
have to click on "YES" to submit your test.
Circle symbols displayed at the bottom of the screen:

-Red Color: Current Question.

-Green Color: Attempted Question.

-White Color: Unattempted Question.

-Blue Color: Attempted and Reviewed Question.

-Violet Color: Unattempted and Reviewed Question

Q.1

Management is an organ, organs can be described and defined only through their functions. This
definition was given by

Marks 1

Question ID:
3106

No

Options Details Correct Option

Peter F. Drucker

v

Terry

Louis Allan
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Henry Fayol




Q.2 Luther Gullik classifies the function of management as

Question ID:
Marks 1 3107
No Options Details Correct Option
1 POSDCORB
2 | POSTCARD.
3 | POSDCORSB. v
4 | POSDORBC.
Q.3 Espirit de corps means )
Question ID:
Marks 1 3108
No Options Details Correct Option
1 | union is strength v
2 | service is our motto
3 | buyer beware
4 | productis our strength
Q4 Every subordinate should receive orders from and be accountable to only one superior is
Question ID:
Marks 1 3109
No Options Details Correct Option
1 Unity of direction
2 | Unity of command v
3 | Centralization
4 | Scalar chain
Q.5 Study of the movements of both the workers and the machine to eliminate wasteful movement is
Question ID:
Marks 1 3110
No Options Details Correct Option
1 fatigue study
2 | time study
3 | motion study v
4 | work-study




Q.6 The assumptions about future derived from forecasting and used in planning are known as
Question ID:
Marks 1 3111
No Options Details Correct Option
1 planning premises v
2 | freehold premises
3 | business premises
4 | corporate premises
Q.7 A rigid plan, no scope for discretion
Question ID:
Marks 1 3112
No Options Details Correct Option
1 | rule v
2 | schedules
3 | procedures
4 | budgets.
Q.8 Set of clear instruction in a clear and logical sequence to perform a particular task
Question ID:
Marks 1 3113
No Options Details Correct Option
1 rules
2 | programme v
3 | policy
4 | methods
Q.9 Employees will be promoted on the basis of seniority is an example of
Question ID:
Marks 1 3114
No Options Details Correct Option
1 rules
2 | procedures
3 | policy v
4 | methods




Q.10 A system of co-operative activities of two or more persons is called

Question ID:
Marks 1 3115
No Options Details Correct Option
1 department
2 | co-ordination
3 | organization v
4 | control
Q.11 Which one is not training technique?
Question ID:
Marks 1 3116
No Options Details Correct Option
1 360 Degrees technique v
2 | BARS
3 | OJT
4 | Simulation
Q.12 Physical work conditions doesn’t include?
Question ID:
Marks 1 3117
No Options Details Correct Option
1 Lighting
2 | Ergonomic Seating
3 | RestBreaks
4 | Leaves v
Q.13 The present value of future contributions of employees is one method of ___
Question ID:
Marks 1 3118
No Options Details Correct Option
1 | HR Accounting v
2 | Inflation Accounting
3 | Responsibility Accounting
4 | Social Accounting




Q.14 Job specification includes

Question ID:
Marks 1 3119
No Options Details Correct Option
1 Psychological Features
2 | Personal Characteristics
3 | Physical Features
4 | d. Allthe above v
Q.15 Job Description emcompasses____
Question ID:
Marks 1 3120
No Options Details Correct Option
1 Job ldentification
2 | Job Duties
3 | Job Summary
4 | a&Bonly v
Q.16 In-basket training method aims at which of the following?
Question ID:
Marks 1 3121
No Options Details Correct Option
1 Intelligence
2 | Resources
3 | Decision making v
4 | Reasoning
Q.17 Which of the following is/are training method?
Question ID:
Marks 1 3122
No Options Details Correct Option
1 Check List Method
2 | Man-to-man Comparison
3 | OJT
4 | Al v




Q.18 Development programmes by the company include

Question ID:
Marks 1 3123
No Options Details Correct Option
1 oJT
2 | Correspondence Course
3 | Packaged Training
4 | All the above v
Q.19 .
Match the following:
List—1
A. Process of organizing work
B. Tasks required to perform a specific task
C. Process of examining how work creates value in business
D. A fundamental rethinking and radical redesigning of business
List -1l
i. BPR
il. Work Flow Analysis
iil. Job Design
iv. Job Enrichment
A) (i) (i) (iv) (i) B) (ii) (iv) (iii) (1)
C) (iii) (i) (iv) (i) D) (ii) (iii) (i) (i)
Question ID:
Marks 1 3124
No Options Details Correct Option
1 A
2 B
3 |C
4 D v




Q.20 Performance=f(m,a,e).In this expression ‘e’ stands for __?

Question ID:
Marks 1 3125
No Options Details Correct Option
1 | Ethics v
2 | Environment
3 | Efficiency
4 | Effectiveness
Q.21
Which of the following is not a key characteristic of a successful quality improvement program?
Question ID:
Marks 1 3126
No Options Details Correct Option
1 Education and training
2 | Team work
3 | Total systems approach
4 | Short-term goal perspective v
5| E
Q.22
Which of the following is not a part of HRD mechanism?
Question ID:
Marks 1 3127
No Options Details Correct Option
1 HRIS
2 | Performance Appraisal
3 | HR Accounting v
4 | Career Planning




Q.23

Which of the following is the primary aspect of performance appraisal?

Question ID:
Marks 1 3128
No Options Details Correct Option
1 Communicating Standards
2 | Setting standards v
3 | Performance Measurement
4 | Performance Comparison
Q.24 Which of the following forms the basis of potential appraisal?
Question ID:
Marks 1 3129
No Options Details Correct Option
1 Job description and higher position
2 | Superior Observation of performance
3 | Historical Performance data
4 | Allthe above v
Q.25 Which of the following is not essential part of career planning?
Question ID:
Marks 1 3130
No Options Details Correct Option
1 Organisation goals
2 | Employee goals
3 | Goal Congruency
4 | Employee Morale v




Q.26 Reward System is defined as

Question ID:
Marks 1 3131
No Options Details Correct Option

1 Compensating employee performance

2 | Compensating employee performance over
and above normal wages and salaries

3 | Rewarding employee performance

4 | Rewarding employee performance over and v
above normal wages and salaries
Q.27 “In today’s changing scenario, it is essential to educate and train employees about the change”. This
statement relates to which HRD strategy?
Question ID:
Marks 1 3132
No Options Details Correct Option
1 Culture Building Strategy
2 | Quality Strategy
3 | Change Management Strategy v
4 | Communication Strategy
Q.28 “Organisation profits is the responsibility of every employee”. This statement relates to which HRD
strategy?
Question ID:
Marks 1 3133
No Options Details Correct Option

Intrapreneur Strategy

Learning Strategy

Cost Reduction Strategy

v
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None of the above




Q.29 Organization structure primarily refers to

Question ID:
Marks 1 3134
No Options Details Correct Option
1 | how activities are coordinated & controlled v
2 | how resources are allocated
3 | the location of departments and office space
4 | the policy statements developed by the firm
Q.30 The purpose of job enrichment is to
Question ID:
Marks 1 3135
No Options Details Correct Option
1 expand the number of tasks an individual can
do
2 | increase job efficiency v
3 | increase job effectiveness
4 | increase job satisfaction of middle
management
Q.31 Strategic planning as a broad concept consists of
Question ID:
Marks 1 3136
No Options Details Correct Option
1 corporate strategy and business strategy
2 | strategy formulation and strategy v
implementation
3 | inputs and outputs
4 | environmental analysis and internal analysis




Q.32 According to Herzberg, which of the following is a maintenance factor?

Question ID:
Marks 1 3137
No Options Details Correct Option
1 Salary
2 | Work itself
3 | Responsibility
4 | Recognition v
Q.33 A major problem with a task force type of management is
Question ID:
Marks 1 3138

No

Options Details

Correct Option

1 there is no logical basis for task force

information

2 | its status is too inflexible v

3 | accountability

4 | lack of planning

Q.34 Individuals such as Albert Einstein, Edwin Land and Steven Jobs lead through which type of power?

Question ID:

Marks 1 3139

No Options Details Correct Option
1 Legitimate

2 | Reward

3 | Expert v

4 | Charismatic

Q.35 Policies are sometimes defined as a(n)

Question ID:

Marks 1 3140
No Options Details Correct Option
1 shortcut for thinking

2 | action plan

3 | substitute for strategy

4 | substitute for management authority v




Q.36 The problem-solving process begins with

Question ID:
Marks 1 3141
No Options Details Correct Option
1 clarification of the situation
2 establishment of alternatives
3 identification of the difficulty v
4 isolation of the cause
Q.37 is known as “the father of scientific management.”
Question ID:
Marks 1 3142
No Options Details Correct Option
1 | Fredrick W. Taylor v
2 | Henry Fayol
3 Robert Owen
4 None of these

Q.38 a young Welsh factory owner was one of the first to emphasise the human needs of
employees: He refused to employ young children
Question ID:
Marks 1 3143
No Options Details Correct Option
1 Andrew Ure
2 | J.N.Tata
3 | Robert Owen v
4 | None of these
Q.39 An association of crane operators in an industrial establishment is an example of:
Question ID:
Marks 1 3144
No Options Details Correct Option
1 | General Union v
2 | Craft Union
3 | Industrial Union
4 | Industrial Federation




Q.40 The factor, which does not include the substance of sound industrial relations policy at the macro-level

is
Question ID:
Marks 1 3145
No Options Details Correct Option
1 Business proposition, project development v
2 | Structure of economy and labour market
3 | Structure of union and employers’
organisations
4 | Policies of the Government
Q.41 Which are not the characteristics of grievances?
Question ID:
Marks 1 3146
No Options Details Correct Option
1 Factual
2 | Fabricated v
3 | Disguised
4 | Imaginary
Q.42 Which of the following statements about workers’ participation in Management in India is not true?
Question ID:
Marks 1 3147
No Options Details Correct Option
1 It is a part of the 20 point Economic
programme
2 | Itis provided in the Directive Principles of
State Policy
3 | Itis made a Constitutional provision under
the 42ndAmendment Act
4 | ltis ajusticeable right of the workers v




Q.43 Characteristics of Industrial Relations do not include:

Question ID:
Marks 1 3148
No Options Details Correct Option
1 Industrial Relations are outcome of
employment relationship in an industrial
enterprise

2 | Industrial Relations promote the skills and
methods of adjustment and co-operation with
each other

3 | Industrial Relations create complex rules and
regulations to maintain cordial relations

4 | Industrial Relations system creates an v
environment of distrust and conflict

Q.44 Which of the following strikes are not authorised by Union?
Question ID:
Marks 1 3149
No Options Details Correct Option
1 Quickie Strike
2 | Lightning Strike
3 | Wild-Cat Strike
4 | Allthe above v
Q.45 Under which section of industrial disputes act 1947, it is mentioned that any person cannot provide
any financial aid to any illegal strike / loack out?
Question ID:
Marks 1 3150
No Options Details Correct Option
1 | Section 25 v
2 | Section 22
3 | Section 18
4 | Section 22(A)




Q.46 Which of the following does not come under three tier adjudication machinery framed under the
industrial disputes act 19477

Question ID:
Marks 1 3151
No Options Details Correct Option
1 Labour Court
2 | Works committee v
3 | Industrial Tribunal
4 | National Tribunal
Q.47 In which of the following ways the basic parties to an industrial dispute can settle their disputes without
state intervention?
Question ID:
Marks 1 3152
No Options Details Correct Option
1 Collective Bargaining
2 | Voluntary Arbitration
3 | Botha&hb v
4 | None of the above
Q.48 Which of the following are approaches to Industrial Relations?
Question ID:
Marks 1 3153
No Options Details Correct Option
1 Sociological Approach
2 | Human Relations Approach
3 | Gandhian Approach
4 | Allthe above v




Q.49

The employee State Insurance Act was enacted the basis of which committee’s report?

Question ID:
Marks 1 3154
No Options Details Correct Option
1 B. R. Ambedkar Committee
2 | B. P. Adarkar Committee v
3 | Royal Commission on Labour
4 | Labour Investigation Committee
Q.50 :
Under which segment of the Indian Constitution, the Labour Policy is designed?
a. Preamble
b. Fundamental Rights
c. Directive Principles of State Policy
d. Fundamental Duties
A) only ¢ B)a,bandc
C)aandc D)a,b,candd
Question ID:
Marks 1 3155
No Options Details Correct Option
1A
2 | B v
3]C
4 | D
Q.51 The constitution of India upholds the principle ‘Freedom of Association’ as a fundamental right
enunciated by I. L. O. convention in
Question ID:
Marks 1 3156
No Options Details Correct Option
1 | Article 20(C)
2 | Article 19(C) v
3 | Article 24(C)
4 | Article 18(C)




Q.52 The ongoing globalization in the country needs reforms in our labour laws. Which of the following
forces oppose changes in the existing labour legislations?

Question ID:
Marks 1 3157
No Options Details Correct Option
1 Government
2 | Labour and Trade Unions v
3 | Employers’ Associations
4 | Human Rights’ Commission
Q.53 The amount sufficient to enable a worker to live in reasonable comfort, having regard to all obligations
to which an average worker would ordinarily be subject to
Question ID:
Marks 1 3158
No Options Details Correct Option
1 | Minimum Wage v
2 | Fair Wage
3 | Living Wage
4 | Nominal Wage
Q.54 The first Wage Board in India was set up in
Question ID:
Marks 1 3159
No Options Details Correct Option
1 1957 v
2 | 1958
3 | 1959
4 | 1960




Q.55 Workers’ facilitation centres shall be set up by the facilitating agency under the
Question ID:
Marks 1 3160
No Options Details Correct Option
1 Payment of Bonus Act, 1965
2 Equal Remuneration Act, 1976
3 Factories Act, 1948 v
4 | The unorganized sector workers’ Social
Security Act, 2005
Q.56
‘Employment Injury’ means personal injury to an employee caused by accident or occupatijonal
disease arising out of and in the course of employment being an insurable employment if the
accident occurs or occupational disease is contracted only within territorial limits of India and nc
outside India.
The above statement is
A) Correct
B) Incorrect
C) True only in case of occupational injury
D) True only in case of accident
Question ID:
Marks 1 3161
No Options Details Correct Option
1 A
2 B v
3 |C
4 D




Q.57

Assertion (A): Labour Welfare is relative to time and space.
Reason (R): It shall be universal and perpetual.

A) Assertion and Reason are right

B) Assertion is wrong and Reason is right

C) Both Assertion and Reason are wrong

D) Assertion is right but its explanation given in Reason is wrong

Question ID:
Marks 1 3162
No Options Details Correct Option
1] A
2 B
3 |C
4 | D v
Q.58 Which of the following is not a peculiarity of labour market?
Question ID:
Marks 1 3163
No Options Details Correct Option
1 Labour market is normally local in nature
2 | The number of buyers is less than the
number of sellers
3 | Labour is less mobile
4 | Worker can sell not only his own labour but v
also the labour of his fellow workers
Q.59 Which of the following statements about labour market is not true?
Question ID:
Marks 1 3164
No Options Details Correct Option
1 Labour market like commodity market is
analyzed by supply, demand and price
equilibrium
2 | Labour Market is relatively more local than
commodity market
3 | Unlike a commodity market, the relationship
between a buyer and seller in a labour
market is not temporary
4 | Monopoly in the labour market is high v




Q.60 The individuals from which the selection can be done after applying all the recruitment strategies are
classified as
Question ID:
Marks 1 3165
No Options Details Correct Option
1 Labour force population v
2 | Applicant Population
3 | Applicant Pool
4 | Labour market
Q.61 India was recently elected to which of the organs of UNO?
Question ID:
Marks 1 3166
No Options Details Correct Option
1 General Assembly
2 | Security Council v
3 | Trusteeship Council
4 | UNESCO
Q.62 National Epilepsy Day is celebrated on
Question ID:
Marks 1 3167
No Options Details Correct Option
1 October 10
2 | November 17 v
3 | December 10
4 | January 14




Q.63
2019 Dada Saheb Phalke Award was given to

Question ID:
Marks 1 3168
No Options Details Correct Option
1 Dharmendra
2 | Jitendra
3 | Amitabh Bachchan v
4 | Govind Nihalani
Q.64 Innovation India Award was given to which city
Question ID:
Marks 1 3169
No Options Details Correct Option
1 Vijayawada
2 | Visakhapatnam v
3 | Guntur
4 | Tirupati
Q.65 “The Road Ahead” was written by whom
Question ID:
Marks 1 3170
No Options Details Correct Option
1 | Bill Gates v
2 | Sundar Pichai
3 | Sudha Narayanamurthy
4 | P.V. Narasimha Rao
Q.66 Saina Nehwal is related to which sport
Question ID:
Marks 1 3171
No Options Details Correct Option
1 Tennis
2 | Soccer
3 | Badminton v
4 | Chess




Q.67

2020-Wisden Best Cricketer Award is given to

Question ID:
Marks 1 3172
No Options Details Correct Option
1 David Warner
2 | Virat Kohli
3 | Ben Stokes v
4 | Josh Hazlewood
Q.68 Television (colour) was invented by
Question ID:
Marks 1 3173
No Options Details Correct Option
1 Richard Gatling
2 | JohnJ. Loud
3 | B.L. Manfred
4 | J.L.Baird v
Q.69
Who wrote “Das Capital®?
Question ID:
Marks 1 3174
No Options Details Correct Option
1 Adam Smith
2 | Karl Marx v
3 | William Taylor
4 | Robert Mugabe




Q.70

Which of the following is called as “Manchester of South India”?

Question ID:
Marks 3175
No Options Details Correct Option
1 Benguluru
2 | Madhurai
3 | Coimbatore v
4 | Cochin
Q.71
The only way to country from the evils of communalism
enforce the rule of law.
Pick out the most appropriate word from the below given words to fill i
blank to make the above sentence meaningfully complete.
(A) eradicate (B) extricate
(C) 1imitate (D) 1influence
Question ID:
Marks 3176
No Options Details Correct Option

v
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Q.72

Ican't her miserliness

Choose the appropriate phrase.

(A) bear with (B) bearon
(C) beatto (D) bearin
Question ID:
Marks 1 3177
No Options Details Correct Option
1 A v
2 | B
3 |C
4 | D
Q.73
My brother-in-laws/ who live in Chennai/ have come/ to stay with us.
A B C D
Find out which part of the sentence has an error.
Question ID:
Marks 1 3178
No Options Details Correct Option
1 A v
2 | B
3 |C
4 | D
Q.74 The synonym of the word, cease, is
Question ID:
Marks 1 3179
No Options Details Correct Option
1 lease
2 | begin
3 | rise
4 | stop v




Q.75 The antonym of the word, hostile, is

Question ID:
Marks 1 3180
No Options Details Correct Option
1 anguish
2 | cruel
3 | friendly v
4 | defend
Q.76 The meaning of the idiom, to be at loggerheads, means
Question ID:
Marks 1 3181
No Options Details Correct Option
1 | to be at enmity v
2 | to be friendly
3 | togethappy
4 | to win the race
Q.77 He ran of money on his European tour.
Question ID:
Marks 1 3182
No Options Details Correct Option
1 in
2 | off
3 | of
4 | out v




Q.78

Improve the following sentence with the appropriate word.

He has been ready by the morning.

Question ID:
Marks 1 3183
No Options Details Correct Option
1 from
2 | since v
3 at
4 for
Q.79 The higher you go colder it becomes.
Question ID:
Marks 1 3184
No Options Details Correct Option
1 an
2 | the v
3 a
4 more
Q.80 He is an boy and will succeed in life
Question ID:
Marks 1 3185
No Options Details Correct Option
1 industry
2 industrial
3 | industrious v
4 industrian




Q.81

If the largest three - digit number is subtracted from the smallest five digit number is

Question ID:
Marks 1 3186
No Options Details Correct Option
1 1
2 | 9000
3 | 9001 v
4 | 90001
Q.82 5978 + 6134 + 7014 = ?
Question ID:
Marks 1 3187
No Options Details Correct Option
1 16226
2 | 19126 v
3 | 19216
4 | 19226
Q.83 39798 + 3798 + 378=7
Question ID:
Marks 1 3188
No Options Details Correct Option
1 | 43576
2 | 43974 v
3 | 43984
4 | 49532
Q.84 360x17 =7
Question ID:
Marks 1 3189
No Options Details Correct Option
1 | 5120
2 | 5320
3 | 6120 v
4 | 6130




Q.85

a) 202 b) 232 c) 242 d) 332
Question ID:
Marks 1 3190
No Options Details Correct Option
1] A
2 B v
3 |C
4 | D
Q.86 The Squire root of 640009 is =
Question ID:
Marks 1 3191
No Options Details Correct Option
1 | 253
2 | 347
3 | 363
4 | 803
5 | Errorin question / Answer options. Grace v
marks will be awarded.
Q.87 The difference between a number and its three fifth (3/5) is 50. what is the number
Question ID:
Marks 1 3192
No Options Details Correct Option
1] 75
2 | 100
3 | 125 v
4 | 150




Q.88 Sachin is Younger than Rahul by 4 Years if their ages are in the respective ratio of 7 : 9, how old is

sachin?
Question ID:
Marks 1 3193
No Options Details Correct Option
1 16 Years
2 18 Years
3 | 28 Years
4 | 29 Years
5 | Errorin question / Answer options. Grace v
marks will be awarded.
Q.89
The average of the first five multiples of 3 is
Question ID:
Marks 1 3194
No Options Details Correct Option
113
219 v
3 | 12
4 | 15
Q.90 Two pipes A and B Can fill a tank in 20 and 30 minutes respectively. If the both the pipes are used
together how long will it take to fill the tank?
Question ID:
Marks 1 3195
No Options Details Correct Option
1 12 Min v
2 | 15 Min
3 | 25 Min
4 | 50 Min




Q.91 A train running at the speed of 60 km per hour crosses a pole in 9 seconds what is the length of the

train?
Question ID:
Marks 1 3196
No Options Details Correct Option
1 120 metres
2 180 metres
3 | 160 meters
4 170 meters
5 | Errorin question / Answer options. Grace v
marks will be awarded.
Q.92 In what ratio must a grocer mix two varieties of pulses. Costing Rs 15 and 20 per kg respectively so as
to get a mixture worth Rs. 16.50 per Kg.
Question ID:
Marks 1 3197
No Options Details Correct Option
1 3:7
2 | 57
3 |73 v
4 | 755
Q.93 884697 -77397-102479 =7
Question ID:
Marks 1 3198
No Options Details Correct Option
1 8251
2 | 8512
3 | 8521
4 | 8531
5 | Errorin question / Answer options. Grace v
marks will be awarded.




Q.94

10531+ 4813 -728 =7 X 87

Question ID:
Marks 1 3199
No Options Details Correct Option
1 168 v
2 (172
3 | 186
4 | 212
Q.95 136 x12x8 =7
Question ID:
Marks 1 3200
No Options Details Correct Option
1 12066
2 | 13046
3 | 13064
4 | 13066
5 | Errorin question / Answer options. Grace v
marks will be awarded.
Q.96 8+88+888+8888+88888+888888="
Question ID:
Marks 1 3201
No Options Details Correct Option
1 | 897648
2 | 896748
3 | 986748
4 | 987648 v




Q.97
Find the sum of place and face values of 8 in 43836

Question ID:
Marks 1 3202
No Options Details Correct Option
1 88
2 | 808 v
3 | 880
4 | 888
Q.98 Find the number which when multiplied by 15 is increased by
Question ID:
Marks 1 3203
No Options Details Correct Option
1 14
2 | 20
3| 26
4 | 28
5 Error in question / Answer options. Grace v
marks will be awarded.
Q.99 Three numbers are in the ratio 4 : 5 : 6 and their average is 25. The largest number is
Question ID:
Marks 1 3204
No Options Details Correct Option
1 30 v
2 | 32
3| 36
4 | 42




Q.100 Mr. Kashyap purchased an air conditioner for Rs. 12000 and sold it for Rs. 15000. What was the profit

percentage.
Question ID:

Marks 1 3205
No Options Details Correct Option
1 15
2 | 20
3|25 v
4 | 35




